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OC0Ct-22 4.5 Interpretting Ax + By + C=0

The equation 3x - 2y - 6 =0 defines a line.
a) Determine the x and y intercept of the line.
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b) Graph the line
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A line is defined by 3x -4y + 16 =0
a) Determine the slope and y - intercept of the line
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Graph the line 3x + 7y =21
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Two perpendicular lines intersect on the x - axis. The equation of
one line is 2x - 3y + 6 = 0. Determine the equation of the second
line.

‘We know:

1. Both lines have the same x - intercept.

2. The slopes of the lines are the negative reciprocal of cach other.
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